AT 2 AR Gt SO ST = S
ﬁ:ﬁ % EEA ‘If_fl; Fliﬁ % @EA ‘If_fl;
E & E X
j(ﬁﬁ /J‘ﬁﬁ /J‘ﬁﬁ j(ﬁﬁ j(ﬁﬁ /J‘ﬁﬁ /J‘ﬁﬁ j(ﬁﬁ
(1) 0.6 4 5 (1) 4, T 4 A
(@) )
(2) 342 4 5 y=ax’EIZHPRH D
NH, x=6, y=9%
RRALT, 9=4a X6°
(3) -9 4 41 1
“=7
Lo, K,
(4) 3a+2b=220 4 5 1
y:sz “’@&fcﬁéo
=1
5) 4 e Vo bizgaunsms, |25
Y= (2) x=—2, y=b&A
LT,
1 2
(6) x=—1, y=1 4 5] (1) b:ZX<_2>
§ b=1
_ 2
(7) x=—23 4 w1 (15)
Z| b= 1
7})\
1 | (8) 72 4 5 5
_ 2
@] e=—4 d=0 %5
8
(9) 7 4 5 R (1)
5
(10) 4 & 4 5
R o
(3) 5 5
(11) 129 ° 4 5
P o
(12) 134 ° 4 5
(4) % = 55123
(13) 8 V. 4 4 =y
(14) 4 gl r cm® 4 x5
(15) 5 = 450132




ﬁ:ﬁ % EEA ST ﬁ:ﬁ % @EA SN
EoO% E%
NN N K NN N K
@ 1000 3 14 . 2
y (L) (1) 14 .4 51
(1) 4000
3000 Y+——+—+—+++ | | 1l feeeb el
2000 4 5
4 AZ A
1000
0 12345678x<ﬁr§)
5
T o 4;#
(f3i) L2
©[EMRP QLIRS | 4 5 @)
3 DT D x JEFE 2 45)13
9 5
©| —800 x +4000 |24
@ @] =500 x + 3500 |2
® 1
B EEEEEEEEEE 2 5

17




] R Bl
PNEIVNS! 4NGIPN!
(1) 135 ° 541

[REBA]  (#1)
AFABIZEWT
i, AC=BE
> ) LUV T 2HEAIZE LVWNDL, LZABC=ZBAE 5 i
I k-7T, ZABF=/BAF
L= T, 2O0BPELNND,
AFABRZFIL=AKTH 5, I
(3) 8 cm® 5 -
[REBA]  (f1) >
AHOBIZEWT 5
fiEM s, BC=45AB 1
B EWOIMORE S IR OLAICHAT 206, LBOG=4ZBOH=30° Q@ il
fEM D, AD=+AB %
L B ZXROIMOE S IHLAICHEATL05, ZAOD=60° 5 A e
5 WE%QEEﬂ%,LABD:%LAOD:LOBH:30°m®
| O, @kv, ZBOH=Z0BH
! L7=WoT, 2O0BPELNND,
AHOBRRZFID=AKTH5,
(2) 6—24J3 cm 5 5
(3) 6 cm? 5 1@\5
A B 100%




